50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN 15ENG15
Time: 3 hrs. . Max. Marks: 100
Note: 1. Answer any FIVE full questions, chﬂasﬁ”g ONE full question f@m each module.

2. Missing data, if any, may be assumed‘si;:tably oM

o/

lf%;dule-l %%m
1 a. Define structure, and explahrw"é‘aaﬁ‘ transfer mechanism ¢ ﬁ“om a structural element to the
ground with sketches. 4 P (10 Marks)
b. Sketch and explain the EQMOWﬁIg i) Arch i) Dome (10 Marks)
OR Ww

2 a. Explain the historica %volutlon of structures with sketches (10 Marks)
b. Sketch and explam the following : 1) Trus s i) Shell. (10 Marks)

Dl

m o Module-2

3 a Explamffhe tefms Modulus of Elasu(:ltﬁ& and Ductility with respect to structural steel.
‘ A m (10 Marks)

b. (10 Marks)
A,
4 a. (10 Marks)
b. (10 Marks)
A = { b 4
5 a. Calculate the é@%\;etlons at the support ‘geﬁhe beam shown %F ig Q5(a).
\ Fig QS(a) (10 Marks)
b. Exﬁam the concept ofT éIiSIOIl and compmen with neat sketches. (10 Marks)
e ome @”“ﬁ““ . )
6
%’{M) %Wﬁ?ﬁ / -
v 4
/i
!
|
saa'n |
Fig Q6(a) (10 Marks)
b. State and explam the equations of Equilibrium of coplanar non-concurrent force system.
N (10 Marks)
1of2
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Module-4 %@%
A bar 2000mm long and 30mm in diameter is subjected to an axial pull of 30,000N. If the
modulus of Elasticity of the material is 2 x 10> N/m 2, Calculate:

i) Stress ii) Elongation of bar iii) Strain. > . (12 Marks)
With a neat sketch explain coplanar congurrent force system and wo@piasnar non-concurrent
force system. %% (0" N4 (08 Marks)

P : %@”OR
-
C |

d to an axial pull of 6QﬁO®N The measured elongation
.09mm and change in#dia is 0.0039mm. Calculate the

A bar of 30mm diameter is su
on a gauge length of 200%

elastic constants. . %0 ¢ (12 Marks)
With neat sketches, exp%ain Resultant Force and Eqﬁu&%;i‘grant Force. (08 Marks)
Module-5 )

With usual notations m = 2j — 3, explain the’ terms perfect truss, Redundant truss and

Defecient truss;™ .~ PN (12 Marks)
Sketch and e}gla;n any two truss configuration. (08 Marks)
Exp}gﬁbthe‘method of calculation if;‘??elf weight of trus a neat sketch. (10 Marks)
Calculate the reactions at the s&i@r‘ts for the truss shown in Fig Q10(b).

{“*%jy

(10 Marks)

& “éfg% ' 2 0f2




